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QUESTION 1

Both Item A and item B are batch-tracked items. Your customer has been using both the IBLPNs Ul screen and the
Batch Management Ul screen to manage batch-tracked inventory. Your customer only has reserve locations for storage
and doesn\\'t use systematic ASN verification process in WMS Cloud. There are two records in the Batch Management
Ul screen of tem A and item B respectively, and these two records have the same value in the Batch Number field. In
the Batch Management Ul screen, when you select the record of item A and apply a lock code, which two statements
are true? (Choose two.)

A. Inventory History record 22 ?Lock Container ?Before ASN Verification will be generated

B. Inventory History record 23 ?Lock Container ?After ASN Verification will be generated

C. This lock code will be applied to the record of item B automatically in the Batch Management Ul screen.

D. This lock code will appear in the Batch Nbr Lock field in the IBLPNs Ul screen for all the IBLPNs of item a with this
batch number.

E. This lock code will appear in the Number Locks hyperlink in the IBLPNs Ul scree for all the IBLPNs of item A with this
batch number.

Correct Answer: BD

QUESTION 2

Which two data conditions on the Outbound Order will always result in unsuccessful cross-dock allocations in WMS
Cloud? (Choose two.)

A. The item on the Outbound Order does not match the item on the LPN being received.

B. The quantity of the item on the Outbound Order is less than the quantity of the item on the LPM being received.

C. The quantity of the item on the Outbound Order is greater than the quantity of the item on the LPN being received.
D. The item on the Outbound Order is a batch tracked item.

E. The quantity of the item on the Outbound Order is exactly equal to the quantity of the item on the LPN being
received.

Correct Answer: AB

QUESTION 3

Your customer wants to use Advance Shipment Notification (ASN) created in WMS Cloud System for receiving without
RF gun and expects ASN to be verified. What are the two steps to complete the ASN receiving and verification
transaction? (Choose two.)

A. Create a Blind IB plate number and palletize after receiving
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B. Create a Blind IB plate number and cartonize before receiving
C. Assign a dock door to 1B shipment

D. Create an ASN from the IB license plate screen

E. Verify the IB shipment

Correct Answer: AC

QUESTION 4

Select the two data formats supported by Oracle WMS Cloud with its built-in interfaces and APIs. (Choose two.)
A. JSON

B. Delimited Flat File

C. EDI

D. XML

E. pdf

Correct Answer: BD

Reference: https://docs.oracle.com/cloud/latest/owmcs_gs-cloud/OWMAP/OWMAP.pdf (6)

QUESTION 5

What is the primary purpose of the Wave Template Search Screen?

A. to identify all outbound loads that have not completed picking yet

B. to determine how many picking tasks will be waved for picking

C. to determine which available orders will be waved for picking

D. to determine the locked locations for inventory allocation

E. to determine from which part of the warehouse the inventory will be allocated
Correct Answer: B

Reference: https://docs.oracle.com/cd/E18727_01/doc.121/e13433/T211976T536591.htm
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